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Choose the most appropriate option for the following:

Which intermediate involve during Sn2 reaction mechanism ?

(a) Carbocation (b) Carbanior (c) Freeradical (d) Pentavalent transition state
Carbocations are ...........oeevvivninn, . .

(a) Lewis acid (b) Lewis base (c) Lowery-Bronsted base (d) Electron donor
Polyalkanes are used as ...........ccoivivennn,

{a) Fire extinguisher (b) Medicine

{c) Cooling agent (d) Antifreezing agent

From the following which molecule have bond order zero ?

{a) Ha (b) Hex (¢) O2 (d) N2
How many lone pairs are present on nitrogen atom of ammonia molecule ?
(a) 0 (b) 1 (c)3 (d)2

The number of unpaired electron in valance shell of Cr-atom in its ground state
IS cveiiinnns .

(a) 3 (b) 4 ()5 (d)6

Complexes which contain two or more central metal ions are called ................... :
(a) Mixed ligand (b) Tridentate ligand

(¢) Hexadentate ligand (d) Polynuclear complex

The rate constant of the zeroth order reaction has unit ............... .

(a) sec” (b) mole lit"! sec™ (€) lit mole™* sec? (d) lit* mole? sec™!
Concentration of a reactants or products on attaining equilibrium state becomes .........
(a) 7er0 (b) constant {c) equal (d) unit velume
Which information is obtained on the basis of chemical kinetics ?

(a} No reaction will takes place {b) Rate of reaction

(¢} Concentration of reactant (d) Concentration of product

Answer the following in very short: (Any Ten)

Define electrophite and nucleophile.

Explain; Stability order of carbocation is 3%> 2°> 19> *CH; .

Give the ditference between Snl and Sn2 reaction mechanism.

State and explain octet rule in brief,

Give the basic shape of CHa, BiFs , SF4 and NF3 molecule,

Why the shape of H>O molecule is angular 7

Give the [TUPAC names of the following complexes:

(a) {Cr(H20)6]Clz {b) Ha{PtCls}

Give the general valence electronic configuration of d-block elements.
Give the difference between coordination compound and lattice compound.
Give the difference between Reaction rate and Reaction rate constant of a reaction.
Define: (a) Molecularity (b} Differential rate law

Obtain unit of rate constant of first order reaction.
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Attempt the followmg

_ Arrange the increasing order of reactivity for the following molecules towards SN2

reaction and explain your answer.
(a) t-butyl chloride  (b) Ethyl chloride  (c) Isopropyl chloride
Explain: o-Deuterio fluorobenzene is converted into aniline only very slowly,

OR
Attempt the following:
Write all the possible isomeric structural formula and IUPAC name for the compound
having molecular formula CsHnCl. Classify them as 1°, 2° and 39 alkyl halides,
Aryl and vinyl halides have low reactivity towards displacement reaction. Explain.

Attempt the following:
Discuss the p-p combination of atomic orbitals.
Deseribe the molecular orbital treatment of Oz molecule,
OR
Attempt the following:
Discuss the structures of ClF1 molecule with the help of VSEPR theory.
Discuss Gillespie and Nyholm theory to explain shape of molecules.

Give the symbol, atomic number, complete and valence shell electron configuration of

the elements of 34- and 44- transition series.
ORr

What is chelation ? Discuss the classification of chelate giving suitable example and
give its uses.

Attempt the following:
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What is integrated rate law ? Derive integrated rate law for second order reaction having {05}

two equal concentration of reactants.
A certain first order reaction takes the 40.5 minutes for 25% completion. Calculate
the rate constant of the reaction.

OR
Attempt the following:
State and explain principle of detailed balancing for multi-step reaction.
The rate constants for the decomposition of N2Os gas are 3.4 x 107 and 4.19 x 10 at
25 UC and 45 °C respectively, Calculate the activation energy of the reaction.
(R=8.314 Js)
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